Section 2.7 Exercises
1. Calculate the index of coincidence for the following ciphertext by hand and use it to estimate the keyword length. (Use Maple to get the letter counts but calculate the index of 

coincidence and keyword length by hand using a calculator)

ctext := "SCZOP COIFF BKXWZ OTFZV NCSMV TVBJF VUEXR QCIPF DFBIU JBQLV GWOWK BBAWV DCKHD PJFIJ UVBRW PIDLK NFQME UVBXY JFAQF WWBEI VGPMR OWKXY FTLYI UVJSM JSXRU UVBRR OOJEK FIOME UVBPR THJSM JSQLV TSJSM JSPXL SBBHJ ZZSIJ USOWK BZISE FWKXF BKBPC LBLAE BQQSI";


2. Use Maple to calculate the index of coincidence for the following ciphertext and use it to estimate the keyword length.

ctext := "NGTSA IPNGE PBSFW NCPBN RSAGF ASGEW JSVSF NRCNI WKGPW KIGEW PSWWM SYEWN NFUNG EPBSF WNCPB NRSWS PWSWR GMNRS USVGH VSBRG MNRSU KCPTS SDNSP BSBMR CNNRS IFHIY INWCF SNGMR IKRGP SWMSR CVSCN NCKRS BNCTG GWCPB MRCNN RSUKC PNSCK REWCT GENNR SFCVI WRIPA MGFHB MSRCV SNRSX FIVIH SASNG IPRCT IN";














3. With Maple’s assistance, use the Kasiski test to estimate the length of the keyword used to produce the following ciphertext. Then use Maple to calculate the index of coincidence and use it to estimate the keyword length. Compare your results.

ctext := "ANIIX GFXVH XCGZD CWYTU KLZKW HFXSG FARXX GLBRH PTWLI IXGFX VHXCG ZDCWY TUKLZ KWCJY OBWHC CCCSF ZDPBO BPTCG FWVXZ LOUJK PRLCE KCCKO CXDRZ YPAPP WQFVV GFANM EFLBV MYQLL LQPLL NYIJZ MCCXE FWCEW EPMGV RERZY POYCO QYICC WPVVJ RZCEK HYKNY IJIFY NLZUW PVVJR ZCEKH MJEVH EFWLV ALQFI VRRGF YVVTL NICZP BWRTI AREUP FPFWQ RWHMJ EZRRR ZYIIE MG";

